
HKE–heavy duty H 223HD EU 35/09 

 

 

 

 

 
 

Exploded drawing 12. 



HKE–heavy duty H 223HD EU 05/10 

 

 

 

 
 

 
 
 



HKE–heavy duty H 223HD EU 05/10 

 

 

 

 
 

 
 

 
Pos. No. 

 

Description 
 

Pieces 
 

    

3 Pin – 4m6 x 12 1  

4 Pin – 4m6 x 12 1  

5 Pin – 6m6 x 18 2  

6 Washer 6 – FSt 1  

    

10 Screw – M3 x 8 2  

    

12 Pin – 3 x 10 1  

    

15 Screw – M6 x 12 2  

    

18 Washer - 10 1  

    

20 
Feather key 

A – 5 x 5 x 20 
1 

 

    

22 Lower jaw 1 V 
    

25 Cutter 1 V 

29 Tension wheel 1 V 

33 Tensioning spring 1 V 

38 
Feather key 

A – 5 x 5 x 18 
1 

 

39 Washer - 12 1  

42 Rear strap guide 1 V 

43 Screw – M5 x 10 2  

44 Washer – S5 2  

    

48 Screw – M6 x 20 1  

49 Thread Pin M6 x 40 1  

    

51 Screw - M5 x 30 1  

52 Washer – S5 1  

55 
Washer 

30 x 42 x 0,2 
1 

 

56 Screw – M4 x 10 2  

61 Name plate 1  

62 CE-sign 1 
 

67 Type plate 1  

Spare Parts list 13. 



HKE–heavy duty H 223HD EU 35/09 

 

 

 

 
 

 

Pos.-No. 

 

Description 
 

Pieces 

 

72 Nut – M6 1  

75 Thread pin M5 x 8 2  

76 Strap guide front 1 V 

77 Screw – M5 x 12 1  

79 Washer – S6 2  

96 Cutting lever 1  

120 
Thread pin 

M6 x 25 
1 

 

121 Nut – M6 3  

122 Needle sleeve 1  

123 Pin 1  

124 Feed shaft 1  

125 Gripper plate 1 V 
127 Upper jaw holder 1 V 

128 Needle ring 2  

129 Eccentric shaft 1  

130 Cover 1  

131 Needle bushing 1  

132 Thread pin M 4 x 6 1  

133 Ejector pin 1 V 

135 Pin – C – 5 x 20 1  

136 Cover 1  

 

502 
Scrap 
guide, 

complete 
19 mm 

 

1 
 

V 

505 
Upper jaw, 
complete 

1 V 

520 
Rocker, 

complete 
1 

 

521 
Frame, 

complete 
1 V 

522 
Tension lever, 

complete 
1 

 



 

 
 

 

 

 

 

The TITAN 
range of products 

Strapping tools 

for steel and plastic strap 

 
 

Strapping machines and 
aggregates 

for steel and plastic strap 

 
 

Baling systems 

for steel and plastic strap 

 

 

Crimp systems 
 

Strip joining devices 

 
 

Strapping 

Steel and plastic strap 
 

Seals 

Accessories 


